UGC NET June 2019 20th June Evening Shift
1.) Which of the following is an example of higher order of cognitive learning outcome?

A. Learning of facts and their sequences
B. Learning roles and action sequences
C. Learning of concepts and abstractions
D. Learning of awareness and valuing
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Answer: C
For a detailed explanation about Cognitive learning, you can visit the following link:

https://youtu.be/10TeJUCZ 107?si=909eQ34uutME4HGd

2.) Instructions which encourage live participation and interaction through online classes
are called:

A. Synchronous instructions
B. Asynchronous instructions
C. Traditional instructions

D. Theoretical instructions

Answer: A

Explanation: Instructions that encourage live participation and interaction through
online classes are called synchronous instructions. These instructions involve real-time
engagement and communication between instructors and students.
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3.) What are the elements of evaluation plan?

(a) Purpose

(b) Resources

(c) Analysis

(d) Authority

Select the correct answer from the options given below:
A. (a) and (c)

B. (b) only

C. (b), (c) and (d)

D. (a), (b) and (c)

Answer: D

Explanation: The elements of an evaluation plan typically include:
(a) Purpose (b) Resources (c) Analysis

These elements are essential for designing and conducting an effective evaluation.
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4.) A hypothesis is:

A. A certain and established finding.

B. A part of the research question.

C. A strategy of evaluating data.

D. A tentative statement providing an explanation.
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Answer: D

For a detailed explanation about hypothesis, you can visit the following link:

https://youtu.be/d5bYr3BdDPk?si=WT9H E Yx4jgfkwa

5.) From the following list identify the qualitative research characteristics and select your
answer from the codes given below:

(I) Creating purpose statements and research questions.

(i) Stating the purpose and research questions in a broad way.

(iii) Collecting data based on words from a small number of individuals.
(iv) Collecting numeric data and statistical analysis.

(v) Using text analysis and interpreting larger meanings of the findings.
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Code:

A. (i), (iii) and (v)
B. (i), (i) and (iii)
C. (i), (ii) and (iv)
D. (i), (iii) and (v)
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Answer: A
For a detailed explanation about types of research, you canvisit the following link:

https://youtu.be/4n79vyfCNvI?si=SO9ROyeHiY|1Hagln

6.) Position papers are:

A. Compiling of academic articles.

B. Providing review articles.

C. Offering a synopsis of an extended research.
D. Highlighting of issues and depiction of status.

Answer: D

Explanation: Position papers are documents that present an organization's or an
individual's stance or viewpoint on a particular issue. They typically highlight the key
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issues related to the topic and provide an overview of the current status or situation
regarding that issue.
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7.) Case studies are:

A. Studies conducted in areas of genetics and microbiology.

B. In-depth examination of a subject and its related conditions.
C. A report on the existing sociopolitical condition.

D. Specialized research in the areas of health and sanitation.

Answer: B
For a detailed explanation about-types of research, you canwvisit the following link:

https://youtu.be/4n79vyfCNvI?si=S9ROyeHiYl1Hagln
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For a detailed explanation about types of research, you can visit the following link:

https://youtu.be/4n79vyfCNvI?si=S9ROyeHiYl1HagIn
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8.) Which of the following is the key behaviour contributing to effective teaching?

A. Summarizing what was told by a student.

B. Encouraging students to elaborate on an answer.

C. Using direct and indirect questioning.

D. Explaining concepts in a logical step by step presentation.
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Answer: D
For a detailed explanation about Effective teaching, you can visit the following link:

https://youtu.be/10TeJUCZ 107si=909eQ34uutME4HGd

9.) Tertiary source of data is:

A. Films, hoardings and posters.

B. Government gazette, newspapers and magazines.

C. Information derived from both primary and secondary sources.
D. Data collected from policy papers.
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Answer: C

10.) Which type of evaluation focuses on the identification of deficiencies and difficulties
of the learner?

A. Summative evaluation
B. Follow up evaluation
C. Diagnostic evaluation



https://youtu.be/10TeJUCZ_1o?si=9o9eQ34uutME4HGd

D. Criterion—referenced evaluation
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Answer: C

For a detailed explanation about types of evaluation, you can visit the following link:

https://youtu.be/10TeJUCZ 107?si=M-YFegOlySGR6Rw3

Read the following passage and answer questions.

Perhaps what bothered the media in 1970s was the shift in liberty being suggested. For
centuries, journalists had operated on the basis of negative liberty, or freedom from
external restraints. Suddenly, however, the thrust was positive freedom, a freedom for
pursuit of some predetermined goals. This new social responsibility seems grounded on
a school of thought that sees negative liberty as insufficient and ineffective, somewhat
like telling people they are free to walk without first making sure they are not crippled.
Who better than government is able to provide humanity with appropriate means?
Government, even a democratic government, is seen by social responsibility adherents
as the only force strong enough to guarantee effective operation of freedom. This does
not mollify observers who find social responsibility to be only slightly disguised version
of authoritarianism. Media philosopher John Merrill has been one of the most outspoken
critics of the theory. To him, the proposition that pluralism of ideas should be
governmentally mandated is ludicrous. Journalists, he says, must retain their freedom to
make their own news and editorial judgements. Even well-intentioned attempts by
outside groups seeking media improvement are self-serving, and inevitably lessen the
autonomy of journalists, Merrill maintains. This leads us to the issue of media autonomy.

11.) What was the basis of the operation of journalists earlier?

A. Freedom of limited choices
B. Social responsibility
C. Free from outside pressure



https://youtu.be/10TeJUCZ_1o?si=M-YFeg0IySGR6Rw3

D. Government control

Answer: C

Explanation: The passage mentions that journalists had operated on the basis of
negative liberty, which refers to freedom from external restraints or pressures. This means
that they were free from outside pressure in their journalistic activities.

12.) According to John Merrill, seeking improvement in media, is:

A. Appropriate

B. Well-intentioned
C. Inevitable

D. Self-serving

Answer: D

Explanation: According to John Merrill, even well-intentioned attempts by outside
groups seeking media improvement are considered self-serving, as they are seen to
inevitably lessen the autonomy of journalists.

13.) The passage critically analyses:

A. Operation of journalists.

B. Mandate for government.

C. Social responsibility theory of media.
D. Regimented autonomy of journalists.

Answer: C

Explanation: The passage critically analyses the social responsibility theory of media and
its implications, including its view on government involvement and its impact on the
autonomy of journalists.

14.) Some scholars consider social responsibility aspect of media as:

A. Negative freedom

B. Pluralism

C. Democratization of media
D. Authoritarianism




Answer: D

Explanation: Some scholars consider the social responsibility aspect of media as a form
of authoritarianism, as mentioned in the passage.

15.) Positive freedom means:

A. Grounded thought

B. Pursuing certain set goals
C. Freedom with conditions
D. Providing identified means

Answer: D

Explanation: Positive freedom, as described in the passage, refers to the freedom for
the pursuit of some predetermined goals.

16.) If proposition ‘'some milk is curd’ is taken to be true, then which of the following
propositions can be false?

A. No milk is curd.

B. All milk is curd.

C. Some curd is milk.

D. Some milk is not curd.
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Answer: A

For a detailed explanation on Square of opposition, you can visit the following link:

https://www.youtube.com/live/BEdD4R-dnIE?si=jwkG8RQj6nCl07kg

17.) Connotative communication inside the classroom is:



https://www.youtube.com/live/BEdD4R-dnlE?si=jwkG8RQj6nCI07kg

A. Direct

B. Critical
C. Implicit
D. Explicit

Answer: C
Explanation: Connotative communication inside the classroom is often implicit,

meaning that it relies on implied or suggested meanings beyond the literal or explicit
communication.
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For a complete revision of communication unit, you can visit the following link:

https://www.youtube.com/live/kZljtmT4zA0?si=eyqTaQcKgMz80RS-

18.) The sum of all even natural numbers between 1 and 81 is:

A. 3280
B. 3321
C. 1646
D. 1640

Answer: D

Explanation: To find the sum of all even natural numbers between 1 and 81, you can use
the formula for the sum of an arithmetic series. In this case, it's an arithmetic series with
a common difference of 2, starting from 2 and ending at 80 (the largest even number
less than 81).

The formula for the sum of an arithmetic series is:

S=(n/2)(a+l)



https://www.youtube.com/live/kZljtmT4zA0?si=eyqTaQcKgMz80RS-

Where:

S is the sum of the series.
n is the number of terms.
a is the first term.

| is the last term.

In this case:

a = 2 (the first even number)

| = 80 (the largest even number less than 81)

n = Number of even numbers between 2 and 80, which can be calculated as follows: n
=[(l-a)/d +1

n=[80-2)/2]+1

n=(78/2)+1n=39+1

n =40

Now, plug these values into the formula:
=(n/2)*(a+1)
= (40/2) * (2 + 80)
S=20*82
S = 1640
So, the correct sum of all even natural numbers between 1 and 81 is indeed 1640.
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19.) Communication through colors can result in:




(a) Aesthetic codes

(b) Cultural codes

(c) Semantic codes

(d) Binary codes

Choose the correct answer from the options given below:

A. (a) and (d)

B. (b) and (c)

C. (b) and (d)

D. (a) and (b)

Answer: D

Explanation:

(a) Aesthetic codes: Colors can convey aesthetic or artistic meanings. Different colors are
often associated with specific emotions, moods, or visual preferences. For example, warm
colors like red and orange may evoke feelings of warmth and excitement, while cool
colors like blue and green may create a sense of calmness and tranquillity. Aesthetic

codes in communication through colors involve using color choices to create a particular
visual or emotional impact.

(b) Cultural codes: Colors can also carry cultural meanings and symbolism. Different
cultures have unique associations with colors, and these associations can vary widely.
For instance, in many Western cultures, white symbolizes purity and innocence, while in
some Eastern cultures, it represents mourning and death. Cultural codes in
communication through colors involve using colors that are meaningful within a specific
cultural context to convey messages or ideas.

So, the correct answer is (D) because both aesthetic and cultural codes are relevant when
communicating through colors.
For a complete revision of communication unit, you can visit the following link:

https://www.youtube.com/live/kZljtmT4zA0?si=eyqTaQcKgMz80RS-
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For a complete revision of communication unit, you can visit the following link:

https://www.youtube.com/live/kZljtmT4zA0?si=eyqTaQcKgMz80RS-

20.) The proposition ‘Some trees are green’ is equivalent to which of the following
propositions?

(a) Many trees are green.



https://www.youtube.com/live/kZljtmT4zA0?si=eyqTaQcKgMz80RS-

(b) Some green things are trees.

(c) Some green things are not non-trees.

(d) Trees are usually green.

Select the correct answer from the options given below:

A. (a), (b), (¢) and (d)

B. (b) and (d)

C. (a) only

D. (c) and (d)

Answer: A

For a detailed explanation on Square of opposition, you can visit the following link:

https://www.youtube.com/live/BEdD4R-dnIE?si=jwkG8RQj6nCl07kg
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Answer: A

For a detailed explanation on Square of opposition, you can visit the following link:

https://www.youtube.com/live/BEdD4R-dnIE?si=jwkG8RQj6nCl07kg
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21.) Identify the reasoning in the following arguments: ‘A pilot without flight plans is like
an artist without paints.

A. Analogical
B. Deductive
C. Inductive
D. Hypothetical

Answer: A

Explanation: The argument is making a comparison between two different situations (a
pilot without flight plans and an artist without paints) to highlight a similarity or analogy
between them. This type of reasoning is known as analogical reasoning.
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22.) In the communication process, signs derive meanings through:

A. The subjectivity of various components.
B. The objectivity of the decoder.

C. The network of inter-relations.

D. The neutrality of the channel.

Answer: C

Explanation: Meanings in communication are often established through the
relationships and connections between signs, symbols, and their context within a
network of inter-relations. This context helps decode and interpret the intended
message.
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23.) Language of the communication also constitutes:

A. The random world

B. The social world

C. The divine world

D. The unsanctified world

Answer: B

Explanation: Language is a fundamental tool of communication that is deeply
embedded in the social world. It is how people express ideas, share information, and
engage in social interactions, making it an integral part of the social fabric of society.

For a complete revision of communication unit, you can visit the following link:

https://www.youtube.com/live/kZljtmT4zA0?si=eyqTaQcKgMz80RS -
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For a complete revision of communication unit, you can visit the following link:

https://www.youtube.com/live/kZ|jtmT4zA0?si=eygTaQcKgMz80RS-

24.) In a bag, there are coins of 5ps, 10ps and 25ps in the ratio of 3:2:1. If there are Rs.
60 in all, how many 5ps coins are there?

A. 100
B. 200
C. 300
D. 400

Answer: C

Explanation:

Given:

5p: 10p: 25p = 3:2:1= 3x: 2x: X
Concept:

1 Rupee = 100 paise

Calculation:

60 Rupees = 60 x 100 = 6000 paise
=5x3x + 10 x 2x + 25 x 1x = 6000
= 15x + 20x + 25x = 6000

= 60x = 6000

=x= 100

Number of 5 paise coins = 3x = 3 x 100 = 300

TH ST H 3:2:1 & STATd | 5 T, 10 T 3R 25 U & Rigd g | e 30 6. Hf [HATDR 60,
stieg & fpaa g 82

A. 100
B. 200
C. 300
D. 400

Answer: C
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5 U & Rydp] BT HBJAT = 3x = 3 x 100 = 300

25.) In which method of arriving at knowledge, the emphasis is on both proceeding from
particular to general and from general to particular in a combined way?

A. Inductive method
B. Deductive method
C. Scientific method
D. Analogical method

Answer: C

Explanation: The scientific method involves a systematic approach to acquiring
knowledge. It combines both inductive and deductive reasoning:

.|Inductive Reasoning: In the scientific method, researchers start with specific
observations and data. They collect information about particular phenomena or events.
Through the analysis of these specific observations, they try to identify patterns,
regularities, or general principles. This is the "particular to general" aspect of the method.
.|Deductive Reasoning: Once patterns or general principles are identified through
inductive reasoning, scientists use deductive reasoning to make specific predictions or
hypotheses based on those general principles. They apply these general principles to
specific situations or cases. This is the "general to particular" aspect of the method.




So, in the scientific method, there is an interplay between moving from specific
observations to general principles (inductive reasoning) and then applying those general
principles to make specific predictions or explanations (deductive reasoning). This
combined approach helps researchers develop and test hypotheses, conduct
experiments, and build a systematic body of knowledge.
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IRy geraf a1 geAsii & IR § SHGR! Tha HRd & | 39 fAfRy sadie-l & fazayur &
e ¥, 9 e, Haftadn a1 9mm Rigidl &t uedr a1 &1 TN &1d § | I8 fafyr &
ORIy ¥ I 98 R

2. TS dh: Th SR SNTHATHD dob & HIeAH 9 e a1 qiHrg Rigidl &1 ugar gl
STl 8, @t a3 37 IR Rigidl & 3R W ARy yfesgarfort a1 uReeur &4 &
fore fATTaTe adb 1 ST Rd & | 3 39 I Rigial ol Al fufaat ar e w)
AN R ¢ | I8 fafd &1 g ¥ faRiw g g |

ggfae, axTfe Ugld | Ry sadiel @ I Rigidl (SMTHITHS db) i 3R g
3R R ARy yfawaTiorT a1 WHieRu (FrHATdS dob) SR & forg 39 E= Rigial
® AN B & o1 U URER fohdl it g1 I8 Tgad V10T Qudhdisl & gReed
?@lﬁaﬂﬁaﬁ?qﬁ&mwﬁ,wﬂm%ﬁ?mdﬁqmmﬁrﬁwq g4 H HgE Bl

|

26.) Choose the missing term out of the given alternatives:
fau ¢ fawedl O 9 qwd ug I+
A. QPO, NML, KJI,

B. HGF
C. CAB




D. JKL
E. GHI

Answer: A

Explanation: The given sequence appears to be moving backward through the alphabet
in groups of three letters:

QPO (backward by 3 letters) -> NML (backward by 3 letters) -> KJI (backward by 3
letters).

So, the next term in this pattern would be:
KJI (backward by 3 letters) -> HGF

The missing term is (A) HGF.

27.) Assertion A: Media entertainment does not enhance the cultural level of society.
Reason R: Most media entertainment encourages escapism, not content quality.
Choose the correct answer from the options given below:

A. Both A and R are true, and R is the correct explanation of A

B. Both A and R are true, but R is not the correct explanation of A
C. Alis true, but R is false

D. Ais false, but R is true

Answer: A

Explanation: (A) Both A and R are true, and R is the correct explanation of A.

Assertion (A): "Media entertainment does not enhance the cultural level of society." This
assertion suggests that media entertainment does not contribute positively to the
cultural advancement of society.

Reason (R): "Most media entertainment encourages escapism, not content quality." This
reason provides an explanation for the assertion by stating that the majority of media
entertainment tends to promote escapism, where individuals seek to escape from their
daily lives, rather than focusing on content quality that could enrich culture.




In this context, the reason (R) supports the assertion (A) by suggesting that the
prevalence of escapism in media entertainment leads to its limited ability to enhance the
cultural level of society. Therefore, according to the given options, (A) is the correct
answer.

27.) 1A A: HIf &A1 TRSH TS & AR idd Wk $I ol deldl ¢

DHRUT R: YBIR HISTT AR AT Pt UG DI g1, diesh TG bl UATed
FRAT G|
T fou U fowedl & § 98 S| -

A. A 3R REH 94 g, 3R R, A DI Ug! RS §

B. A 3R R G I g, Afh R, A P Tal TRSAT Ta! &
C. AT §, IR 3T g

D. A3 e RgRIT

3d A

THIHL: (A) A 3R R Gl 9 B, 3R R, A BT Yol WP IHI 5

- AT (A): "HSTT ARSI THIS & PP WX Bl el dgIdl ¢l" I8 aral §ardl § b
a1 ARG A & AR e Jad B HHRIAD NG T8l odl 6|

« HRU (R): "D HSHT FARSH FIHU &1 [UTad ! al, Siesh GArI—dIG I UidTied
HRAT 81" T HRUI 3Y gTd & foIE Teh WP YaT- Bl & [ UBI TS AR

JATIdIG &1 SGIdT odl &, STal odiad |3l &1 I[UTaxdl UR & dbiad H & Fold 30
&fe SiigT | YT o1 DI Hd § Sl AeBid Bl TG HR Abeil 5|

2 YeH o SR (3R) I8 Y19 adbr ald (¥) BT 0T SRl § T Hifear gake o
UATO-TdIG o1 SATUchdl FHTS! b Hikpicd KR DI IGIH i 34D IHd &N B 3R o St
g1 39ferg, fau 7T fas el & SER, (@) Wal SR g

28.) Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises:

(i) All cats are dogs.
(i) All dogs are cows.
Conclusions:

(a) All cats are cows.




(b) Some cows are cats.

(c) All dogs are cats.

(d) No cow is dog.

Select the correct answer from the options given below:

A. (b), (c) and (d)

B. (d) only

C. (a) and (b)

D. (b) and (d)

For a complete revision of Logical Reasoning, you can visit the following link:

https://youtu.be/AJ-BTebMw5Q?si=HnHdTgMgcRmgjyIN

28) A & TR feu U € 591 @R sy fRoera e &1 Fefeifed § ¥ oF a1 ey
IRIR § Y =T F ApTer S TohdT 82

ORIR:

(i) Tt fafeeal o g
(i) It T A B
fesa:

(a) Tt fafeerar ma 1
(b) P& T fafRTal B
() 94t T fafeaar g1
(d) TS TR Pl &1 &
e feu TTu o & 9§ 98 S| -
A. (b), (c) and (d)

B. (d) only

C. (a) and (b)

D. (b) and (d)

Answer: C



https://youtu.be/AJ-BTebMw5Q?si=_rp-HF7cprBgB3ZE
https://youtu.be/AJ-BTebMw5Q?si=_rp-HF7cprBgB3ZE

For a complete revision of Logical Reasoning, you can visit the following link:

https://youtu.be/AJ-BTebMw5Q?si=HnHdTgMgcRmgjyIN

29.) Manoj's commission is 10% on all sales up to Rs. 10,000 and 5% on all sales
exceeding this. He remits Rs. 75,500 to his company after deducting his commission. The
total sales will come out to be:

S dh I Gt fah] TR AT T HHRM 10% &1 10,000 3R 3T 3 BT JH foeh! R
5% | T8 ¥UY VoIl §. 3fUHT HHIRA B & §IG SAD! HU-! Bl 75,500 . Hd [o6h! 39
UHR ghT:

A. Rs. 78,000
B. Rs. 80,000
C. Rs. 85,000
D. Rs. 90,000

Answer: B
Explanation:
Let total sales is x.

Total commission = 10% of 10,000 + 5% of (x — 10000)

= 500 + x/20

Now, remits Rs. 75,500 to his company after deducting his commission = x — (500 + x/20)
= 75500.

Now, x = 80,000

So, option B is the correct answer.

WHIHR
AT $d 9! x g
H HHIH = 10,000 BT 10% + (x — 10000) BT 5%

= 500 + x/20

3(d, STY ol 8. IHBT HHIRM bIe P dI IHP! HUHT BT 75,500 T = x — (500 + x/20)
= 755001

3{d, x = 80,000



https://youtu.be/AJ-BTebMw5Q?si=_rp-HF7cprBgB3ZE
https://youtu.be/AJ-BTebMw5Q?si=_rp-HF7cprBgB3ZE

a0, fadey ot 95t I 5

30.) The simple interest on a certain sum of money for 3 years at 40% per annum is half
the compound interest on Rs. 2.000 for 2 years at 10% per annum. The sum invested on
simple interest is:

T AT 4RI IR 3 9 & AT 40% a1 GR I WIYROT ST ST TR Ahqfg TSl Bl
YT 8| Ufd aN 10% bt e 2 auf & AT 2,000 %, YR AT R a2 &1 175 AR 8

A. Rs. 875
B. Rs. 175
C. Rs. 250
D. Rs. 350

Answer: B
Explanation:

Let's break down the problem step by step:

.|Find the compound interest on Rs. 2,000 for 2 years at 10% per annum:

Compound Interest (Cl) formula:
Cl=A-P

CI=P(1+1%)T—P

Where:

A is the amount after interest.

P is the principal amount (Rs. 2,000).

R is the rate of interest (10% per annum).
T is the time period (2 years).

2
CI = 2000 (1 + %) — 2000

Cl = 2000 (ﬁ)2 — 2000

121
100

Cl = 2000( ) — 2000

CI = 2420 — 2000

Cl =420




.|Given that the simple interest for 3 years at 40% per annum is half the compound
interest, the simple interest is 1/2x420=210 Rs.

.|Now, we can calculate the principal amount (the sum invested on simple interest) using
the formula for simple interest:

_ PXRXT
100

SI

Where:

Sl is the simple interest (210 Rs. in this case).

P is the principal amount (the sum we want to find).
R is the rate of interest (40% per annum).

T is the time period (3 years).

210 = PX40x3
100
21000
T 40x%3
P =175

The sum invested on simple interest is = 175

31-35

Consider the following two tables (I and Il) that show the percentage wise distribution
(%) of the number of laptops sold by a shopkeeper during a period of six months from
April to September 2018 and the ratio between the number of Laptops sold of brand HP
“H" and brand DELL “D" during the same six months. A total of 45000 laptops have been
sold during these six months Study these tables | and Il and answer the questions that
follow.

. Sale of laptops Month wise . Laptops Brand Ratio
Name of | % of Laptops Name of Ratio
Month Month

H D
April 17 April 8 7
May 22 May 4 5




June 25 June 3 2
July 8 July 7 5
August 12 August 7 8
September 16 September |7 9

fraferRad &l drferetat (1 3R 1) TR faaR & ST 3iUd ¥ RideR 2018 0& &g HelH & 3@fd
& SR TP gHMER gRT 99 7Y AUCIT &1 TAT o7 Uf=rd aR faaRur (%) 3R §is & o9
U UCTY 1 WA & st BT U R § | THA B8 HelHl b GRIF HP "H" 3R s
DELL "D" | 371 B8 HIHI & SR $d 45000 QUCTT 8 1T B, 3 ATfeidbrail | 7R 11 T 31eqa
® 3R S ardl Ui & SR <

|. Sale of laptops Month wise ll. Laptops Brand Ratio
Name of | % of Laptops Name of Ratio
Month Month

on on H 5
April 17 April 8 7
May 22 May 4 5
June 25 June 3 2
July 8 July 7 5
August 12 August 7 8
September 16 September |7 9

31.) What is the total number of laptops sold of brand D during May and June together?
T3 3R S & SR §7S D & 9 7Y AUy o o el fdhdi 82

A. 9500
B. 10000
C. 10500
D. 15000

Answer: B
Explanation:

Total number of laptops sold of brand D during May and June together

= [45000 x (355)  (5)] +[45000 x (555) = ()




= 10000

32.) If 35% of the laptops sold of brand H during August were sold at a discount, how
many laptops of brand H during that month were sold without a discount?

g 3R & GRM §i8 H & o9 T 35% YT ¥¢ IR 9 U 4, 1 39 HeH & GRM s
H & fdhaH Tuery foT B¢ & od T 47

A. 882
B. 1635
C. 1638
D. 885

Answer: C
Explanation:

Total number of laptops of brand H in August

= 45000 X (%) 8 (115)

= 2520

35% of the laptops sold of brand H during August were sold at a discount

35
= 2520 x (=)
= 882
laptops of brand H in August were sold without a discount

=Total Laptop of H brand in August — laptops of H brand on discount
= 2520 — 882
= 1638

33.) The number of laptops sold of brand H during April is approximately what percent
of the number of laptops sold of brand H during September?

30 & SR §iS H & 92 7T AYCIY 1 TBAT RIdeR & SR siig H & 9 ¢ AUeig &)
THT BT THT ford=T ufa=rd 82




A. 110
B. 140
C. 130
D. 150

Answer: C
Explanation:

The number of laptops sold of brand H during April (A)

= 45000 X (%) X (%)

The number of laptops sold of brand H during September (S)

= 45000 X (- 1) X (%)

The number of laptops sold of brand H during April is approximately what percent of the
number of laptops sold of brand H during September

=2x 100
S
= 129.52
= 130(approx)

34.) If the shop keeper earned a profit of Rs. 434 on each laptop sold of brand D during
July, what was his total profit earned on the laptops of that brand during the same
month?

gfg PR = ST BT ATH HHMT| S[dls & GRIM §is D & sd 7Y & dUeid IR 34
434 373 fiQl, It HEH & SR 39 §iS & Uy WR IUD] Hal ffofd Ty fard=r ur?

A. 6,51,900
B. 6,46,500
C. 6,49,500
D. 6,51,000

Answer: D
Explanation:

The number of laptops sold of brand D during July




= 45000 X (%) X (%)

= 1500
shop keeper earned a profit of Rs. 434 on each laptop sold of brand D during July
Hence, Total profit

= 1500 x 434
= 651000

35.) What is the ratio of the number of laptops sold of brand D during April to those sold
during September of the same brand?

3T P SR 1€ D & o< U AUCTY ! BT BT RIdeR b SR ITI i b 9 7T AUy
D1 T U T 872

A. 119: 145
B. 116: 135
C. 119:135
D. 119: 130

Answer: C
Explanation:

The number of laptops sold of brand D during April

= 45000 X (%) 5 (115)

The number of laptops sold of brand D during September

= 45000 X (- 1) X (%)

Ratio of the number of laptops sold of brand D during April to September

Number of laptops sold of brand D during April

" Number of laptops sold of brand D during September

119
"~ 135

36.) Consider the following statements in the context of Millennium Development Goals
(MDGs) adopted by the United Nations.




(a) Eradicate extreme poverty and hunger.

(b) Improve maternal health.

(c) Responsible consumption and production.

(d) Reduce child mortality.

Choose the correct answer from the options given below.
A.(a), (b) and (c)

B. (b), (c) and (d)

C. (a), (b) and (d)

D. (a), (c) and (d)

Answer: C

For a detailed explanation on Millenium Development Goals, you can visit the
following link:

https://www.youtube.com/live/XRyiVgFsfQY?si=sDt5 8m2d4udpkif

g Y GRT SUATE 7T Yewdlea! [Gb diedi (TASISN) & ey # Fafeied syl )
ICEIRERY

(a) SATIH RIS SR Y@ B B
(b) AT W ¥ UR|

(c) oTIeR @Ud 3R e

(d) ST GG & DI HY BT

i fau ¢ fawedl & 9§ T6t SR |
A. (a), (b) and (c)

B. (b), (c) and (d)

C. (a), (b) and (d)

D. (a), (c) and (d)

Answer: C



https://www.youtube.com/live/XRyiVqFsfQY?si=sDt5_8m2d4udpk1f

For a detailed explanation on Millenium Development Goals, you can visit the
following link:

https://www.youtube.com/live/XRyiVgFsfQY?si=sDt5_8m2d4udpk1f

37.) Why would BCC: be used in an e-mail?

A. BCC: allows the recipient to identify all the other recipients in the list when a group
email address is used.

B. BCC: allows the sender to indicate who the email is for if there is more than one
recipient.

C. BCC: allows the sender of a message to conceal the recipient entered in the BCC:
field from the other recipients.

D. BCC: allows recipients to be visible to all other recipients of the message.

Answer: C
For a detailed explanation about Email and Its Parts, you can visit the following link:

https://youtu.boe/AOvUWMMUspc?si=14ra-1y91-Yv-14c

Bt 5-Ad H BCC: T IUANT i faar Sae?

A. SRR T8 SHA Ud P SUIRT SR TR UTKidhdi ol gat & g I+ uradhdisfi &
UM B BT AR a1 2l
B. ﬁ%ﬁ@w@&%mﬂ%aﬁwﬁ%ﬁﬁmﬁﬁ%ﬁ?@ﬁ
|
C. ST ST Ao aTel Bl SN ies | Gof UIdhdi ol 3+ Udddisil 9 fum
B 3FAf AT B
D. SRR U atatl & Yo & g G UTehdisl ! TXgHM 8 &1 A ST 7 |

Answer: C
For a detailed explanation about Email and Its Parts, you can visit the following link:

https://youtu.be/AOvUWMMUspc?si=14ra-1y91-Yv-14c

38.) Assertion "A”: Night time temperatures in the central parts of a city are generally
higher than those over the surrounding rural areas.



https://www.youtube.com/live/XRyiVqFsfQY?si=sDt5_8m2d4udpk1f
https://youtu.be/AOvuWMMUspc?si=14ra-1y91-Yv-14c
https://youtu.be/AOvuWMMUspc?si=14ra-1y91-Yv-14c

Reason “R": Radiation losses over the urban areas are less than that over the rural areas.
Choose the correct answer from the options given below:

A. Both "A" and “"R" are true and “R" is the correct explanation of “A".

B. Both "A" and "R" are true but “R" is not the correct explanation of “A".
C. "A" is true but "R" is false.

D. "A" is false but “R" is true.

Answer: A

Explanation:

Assertion (A) states that night time temperatures in the central parts of a city are
generally higher than those over the surrounding rural areas. This is a true statement
and is commonly observed due to the urban heat island effect, where cities tend to be
warmer than surrounding rural areas at night.

Reason (R) states that radiation losses over the urban areas are less than that over the
rural areas. This is also true because urban areas often have more buildings, pavement,
and heat-absorbing surfaces, which retain heat and reduce radiation losses compared to
the open, less built-up rural areas.

Furthermore, "R" provides a valid explanation for why "A" is true. So, option (A) is the
correct choice.

38.) aTaT "A": fhlt B B T I & Ad b THT DT dUHM TH TR TR R b ATHIOT
& 1 JIT | 31fp B g
HRUT"R": WG &1 § fafdur g1 Ao &1 &1 ga- & & g
:ﬂ%mWﬁWﬁ@wW?ﬁ:

A. "A" 3R "R" T T g 3R "R" "A" &I Jg! WPIHUI 5|

B. "A" GhT "R" Eﬁ:ﬁW%W "R""A" WWWUT:I—E?[%I

C. "A" 9 § Afp "R" AT B

D. "A" T[eld g dfh "R" T g

Answer: A

TSTHT:

. ATYHYT (@) H H8T 7T g b bt e & 7 4T & Id & JHY BT dIYHM TH aR R
STIUTT & JTior &3 1 ga | 31 BT 81 U8 U T Y § SR AR TR e
dT9 419 UHTT & HRUT <A ST &, SI81 [6R A H U & A0 &3 &1 Ja1 | 1w
THEId |




- HRUT (3R) FAT & b et & J fafepwor g1 arfior &= &t o & &4 ¢ 1 a8 ud off
g i et & H SR 31 SHRG, Beury 3R TH-3aenfid Tag gt g, Sl gal, 4
faftfa smftor &=t ) g & T SRR Tt § SR fafeun g1 & B H Rl B

TP 3(TTAT, "R Y 91 b oTT Th Y WFIHRUN TS HRdT & [ T I 7l g1 39ferg,
ey (@ I8! fapeu g1

39.) Which of the following disasters belongs to the category of nuclear disasters?
(a) Fukushima disaster

(b) Chernobyl disaster

(c) Three-mile Island incident

(d) The love canal disaster

Choose your answer from the options given below:

A. (a), (b) and (c)
B. (a), (b) and (d)
C. (a), (c) and (d)
D. (b), (c) and (d)

Answer: A

Explanation:

(a) Fukushima disaster - This was a nuclear disaster that occurred in Japan in 2011.
(b) Chernobyl disaster - This was a nuclear disaster that occurred in Ukraine in 1986.

(c) Three-mile Island incident - This was a nuclear incident that occurred in the United
States in 1979.

(d) The Love Canal disaster - This was not a nuclear disaster. It was an environmental
disaster related to toxic waste dumping in the United States.

So, the correct answer is (A) (a), (b) and (c).

39,) fFofaRed o 9 ®F 3t STUaT URAT] Suar & 9ot § ol g2

(a) PDIRMAT UG
(b) TRANSA 3MUST




Q) aﬂ-lﬂagﬁuw
(d) UH TG 31Ut
it fou 77U faewedt & 9 (U1 IR -
A. (a), (b) and (c)
B. (a), (b) and (d)
) (

C. (a), (c) and (d)
D. (b), (c) and (d)

3 U

IPTDHRT:

(a) PPHIRMAT SATUGT - Tg Teb URHTY] TGS 1 S 2011 H S7u H g3 ot

(b) SRS 3MTUGT - T Teh TRHTY] 3TUGT 2t il 1986 H Ygh1 T g5 |

¢) -Hd g1 g1 - I8 T GRATY] TeT At Sif 1979 H Wga oy AR 1 g8 ot

(d) T BT UG - TG hlg IRHIY 3TIGT a1 T | T8 Agad I5d SR H fqured Ay
SthT T Teferd Ush ygiaruny amaar 2|

M, T8l IR (a) (a), (b) 3R (c) B

40.) Jatin’s laptop has a LCD screen. The acronym LCD stands for:

A. Light Crystal Display

B. Liquid Compact Display
C. Light Compact Display
D. Liquid Crystal Display

40.) Sifa & AUeIy & UeRie! Whid g1 Hféd 19 LCD &1 3 &

A. d1gc foed fowm
B. fafds s fooa
C. Booh] HIHde foo
D. fafds fheed fewm

Answer: D

41.) Which of the following is an example of proprietary system software?




A. Linux

B. Microsoft Internet explorer
C. Microsoft office

D. Microsoft windows

Answer: D
Explanation:

Linux (option A) is an open-source operating system.

Microsoft Internet Explorer (option B) is a web browser, not system software.

Microsoft Office (option C) is a suite of productivity applications, not system software.
Microsoft Windows (option D) is a proprietary operating system developed by Microsoft.
For a detailed explanation on Types of Software, you can visit the following link:

https://youtu.be/88M9ZS60mf0?si=elJQ9eFH8xueg3Li

41) FafaRad ® T o 91 Aifie 1 RRer IiiedR &1 G180 87
A. fomaa
B. AISH YT 3iduid 3AYdH
C. U3 NITe 3ifthy
D. AT NIUe faatel
3R 8t
TVIHIT:
- foreg (A ey 1) T NU=-TRf SiTRfeT ReH g1
- ATSHIGTUC SeXc TR ([Aded o) Ueh dd SIS 8, ReH Aiucdar 8! |
- U ITge SHifthY (fAded ) IdTgdmdr ST &1 U Je 5, Red Aitedar 81|
. ATShITUE fdSieT (Reey ) ATshiaTue gRI fae Rid T Wifta TR Rer g1

For a detailed explanation on Types of Software, you can visit the following link:

https://youtu.be/88M9ZS60mf0?si=elJQ9eFH8xueg3Li

42.) Which one of the following universities is not among the first three that were
established during 18577

A. Calcutta



https://youtu.be/88M9ZS60mf0?si=elJQ9eFH8xueg3Li
https://youtu.be/88M9ZS60mf0?si=elJQ9eFH8xueg3Li

B. Bombay
C. Delhi
D. Madras

42) Frafefaa § @ &9 91 fayfaeray 1857 & SRM R Uga 04 fayfaemeal & 9 ue
Tol 82

A. HADI

B. §ds

C. facat

D. Hal™

Answer: C

43)) "Gyanvani” launched by IGNOU to cover the educational needs of India refers to:

A. Satellite based educational TV channel
B. Educational FM Radio network

C. Global initiative of academic networks
D. MOOCs

43.) YR B! RNT&P SMaRID TS Pl IR HRA & [0T4 S GRIT R B} 18 "0 BT dTedd
e

A. Tearse nyiRd Qe a9
B. RIférer Twhud el Aead

C. Qe Acad o1 e Uga

D. TH3N3{I

Answer: B

44.) With respect to computers, which one of the following best describes phishing?

A. A malicious program installed on a system that stays concealed to avoid detection.

B. A method of bypassing normal authentication procedures over a connection to a

network.

A type of unsolicited bulk email of identical messages sent to numerous recipients.

D. An attempt to acquire sensitive information for malicious reasons, by
masquerading as trustworthy entity.

O




Answer: D
Explanation:

Option (A) refers to a form of malware, not phishing.

Option (B) describes a method related to network security, but it is not specific to
phishing.

Option (C) describes spam email, but it is not the definition of phishing.

Phishing is a type of cyberattack where attackers attempt to trick individuals into
revealing sensitive information (such as passwords, credit card numbers, or personal
data) by pretending to be a legitimate and trustworthy source, often through deceptive
emails or websites.

For a detailed explanation on Types of Malware, you can visit the following link:

https://www.youtube.com/live/GaxN3snvqz4?si=-fég KOPgU917VPU

44)) HR & A&y H, FARIRGd & T S 91 BRI &1 o’ /8T auiH Rl 62

A. Ren = RiIftd te gufasTgo! SR S Il 9 8§94 & fod fesar T8 81

B. il Aead ¥ H-aRM WR AHRI YHIUNHRUT UishaTsii &I S-uR o3+ &f U fafd|
C. 3P UTIh i3l ol Hol 7T FHH HERI BT Teh UbR Bl Sfdifedd b sHd |

D. HRIGHG IH1E & ¥YU H [GEIdl HReb gHIGYUl BHRUN ¥ HdGRNT SHBRT ST

PR BT YA |

3R 8t

TPIDHR:

- fdHeT (A) ATITR & Ueh U Pl HelHd pdl 5, bR I Tl |

;gqécu (B) ead JR&M q e Ueh fafd) &1 aui- &xal ¢, clich- I8 iR & forg fafkmy
|

- fdoheT (C) WY AT &1 IUH HaT &, Qb T8 BRAT Bt alRuTT 981 3

O TRINT Th UHR BT ISR THAT © 9T THATGR SRR YTHS SUd I d9TTScl & J1e0T I
Y 3R HRIHE Fid 811 BT fGWTa1 P G Bl dgTINd BRI (o UMHds, hige
HTS AR IT AfFNT ST Ube DI & ol sRITATd B
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45.) Which one of the following coordinates, promotes and funds research activities of
all social sciences disciplines?

A. ICPR, New Delhi
B. TAS, Shimla

C. ICSSR, New Delhi
D. NUEPA, New Delhi

Answer: C

Explanation:

ICPR (Indian Council of Philosophical Research) primarily focuses on philosophical
research.

TAS (The Asiatic Society) in Shimla is an institution dedicated to historical and
cultural research, but it does not cover all social sciences.

NUEPA (National University of Educational Planning and Administration) in New Delhi
primarily focuses on educational research.

ICSSR (Indian Council of Social Science Research) is the organization that specifically
promotes and funds research activities in various social sciences disciplines.

45.) Fafafed # 9 oF T T a9 vt &t sue™ Aidiaidl & 9944, TaR
3R fqauiyor xdr g2

A. 3SR, 5 faed

B. ¢IuEy, fRHar

C. ARIUTITIINR, 75 fecalt
D. THgsUIT, 7% faeeht

IR It

WBIHRT:

» SRR (HRGTT GRIMS ST uRve) T8 TU ¥ GRS SIHUM R Hiad 3|
« e ® <luey (@ Rrnfed wrse) UagiRie SR gaftd U 9T g
IRPfaw ™, dfe 398wt o fage wnfie =61 g




- 7% faelt § NUEPA (RMd gaRict 31T T eHd @1 U8 Tsfesr) 731 = 3
AMiep ST W Hfgd 2

« ICSSR (MR IS AT S URyg) 98 e § ol Ay Ao fagm fawa
o Sy iAfafal &1 foRiy =0 ¥ Ja1a1 T § 3R fad Uiftd e g

46.) A special focus on the problems of examination system of India formed a part of
which one of the following reports?

A. Report of the Calcutta university commission.

B. Report of the University Education commission (1964-66).
C. Hartog committee report.

D. Report on standards of university education UGC (1965).

46.) HRd &1 UeT UUTTel 1 gHEme WR faviy e Fufefad 7 3 feg Ruid o1 fgwar ure

A. THADH ayfaaad SmanT &1 Ruie.

B. fayfaemery fRrem smanT &1 Ui (1964-66) |

C. grehT gfifa ot Ruid.

D. fayfaemer fRiem & AM®I IR RUIC ot (1965)

Answer: D

47.) A computer network which is used within a building is called a:

Ush R Acdeh Sl fdl Ha o iR ST fobdl STl § $& gl el &

A. WAN
B. MAN
C. LAN
D. SAN

Answer: C

48.) In which of the following Ancient Indian universities, the culture and civilization of
Tibet was built mainly through the writings of the scholars?

A. Nalanda
B. Vikramsila
C. Jagaddala




D. Mithila

frafeied d 9 fog uri= yRda fayfaame & fdsad @ Wi 3R ST &1 Fafor g=
U Y fagHl & W & Ay J g T

A. ATl
B. fasAfRran
C. SFIEdll
D. fHfar

Answer: B

49.) The Paris Agreement aims to limit the temperature rise in this century by how many
degrees Celsius above the preindustrial levels?

R T &1 960 39 XdTsal § aradH gia &1 gd-Sfiifie TR ¥ fea- ot afcr™
SR I ST 82

A. 1°C
B. 2°C
C. 0.5°C
D. 3°C

Answer: B

50.) Statement I: Most of the member countries in the International solar alliance are
located between the Tropic of Cancer and Tropic of Capricorn.

Statement Il: Japan is a member country of the International solar alliance.

Which of the above statement is/are correct?

A. | only
B. Il only
C. Bothland Il

D. Neither | nor I
HY I: SRIPTT YR a4 H HfYBIR T = Db @M 3R HHR @1 & s (YA 5 |
HY |I: ST SRIFT TR TS BT T o O B
SWRIE § Y D A1 HY Tl 8/87




A. $Hdd |

B. &dd ||

C. 1 3R 11 gt
D.9ar 13RSI

Answer: C




